



## NEW INEQUALITIES IN TERMS OF OPERATOR $m$ -CONVEX FUNCTIONS IN HILBERT SPACE

ERDAL UNLUYOL, YETER ERDAŞ, AND SEREN SALAŞ

ABSTRACT. In this study, we obtained some new inequalities via operator  $m$ -convex functions. Afterwards, we generalized and revised some theorems and lemmas in operator  $m$ -convex functions.

### 1. INTRODUCTION

We know the below inequality in literature as Hermite-Hadamard,

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{f(a)+f(b)}{2} \quad (1.1)$$

where  $f : \mathbb{R} \rightarrow \mathbb{R}$  is any convex function,  $a, b \in \mathbb{R}$ . It satisfies approximates of the mean value of  $f : [a, b] \rightarrow \mathbb{R}$  continuous convex function. Let  $A, B \in B(H)$  be selfadjoint operators, where  $H$  is a Hilbert space,  $B(H)$  is all bounded operators from  $H$  to  $H$ . Then for every  $x \in H$

$$A \leq B \quad \text{means that} \quad \langle Ax, x \rangle \leq \langle Bx, x \rangle$$

or

$$B \leq A \quad \text{means that} \quad \langle Bx, x \rangle \leq \langle Ax, x \rangle$$

Let  $(H, \langle \cdot, \cdot \rangle)$  be a complex Hilbert space and  $A$  be a selfadjoint operator on it. The Gelfand transformation sets up a  $\Phi$  \*-isometrical isomorphism  $C(Sp(A))$  among  $C^*(A)$  the  $C^*(A)$ -algebra  $C(Sp(A))$  is  $C^*(A)$ -algebra of all continuous complex-valued functions on spectrum  $A$ . Let  $f, g \in C(Sp(A))$  and  $\alpha, \beta \in \mathbb{C}$

- i.  $\Phi(\alpha f + \beta g) = \alpha\Phi(f) + \beta\Phi(g)$
- ii.  $\Phi(fg) = \Phi(f)\Phi(g)$  and  $\Phi(f^*) = \Phi(f)^*$
- iii.  $\|\Phi(f)\| = \|f\| := \sup_{t \in Sp(A)} |f(t)|$
- iv.  $\Phi(f_0) = 1$  and  $\Phi(f_1) = A$  where  $f_0(t) = 1, f_1(t) = t$  for  $t \in Sp(A)$

---

Received by the editors: September 22, 2017; Accepted: April 24, 2018.

2010 *Mathematics Subject Classification*. Primary 47A05; Secondary 26D15.

*Key words and phrases*. Operator  $m$ -convex functions, selfadjoint operator, product two operator.

which is the element of  $\Phi(f)$  of  $C^*(A)$ , is continuous functional calculus. In this conditions, if for all  $t \in Sp(A)$ ,  $f(t) \geq 0$ , then  $f(A) \geq 0$ , namely  $f(A)$  is positive on  $H$ . Let  $f, g : Sp(A) \rightarrow \mathbb{R}$  be two functions. If for every  $t \in Sp(A)$   $f(t) \leq g(t)$ , then  $f(A) \leq g(A)$  in the operator order  $B(H)$ .

**Definition 1.** [1] Let  $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be continuous function and  $\lambda \in [0, 1]$ . If for all  $A, B \in B(H)$  selfadjoint operator, where spectra in  $I$ ,

$$f((1 - \lambda)A + \lambda B) \leq (1 - \lambda)f(A) + \lambda f(B)$$

inequality satisfies, then we say the  $f$  is an operator convex function.

**Definition 2.** [7] Let  $f : [a, b] \rightarrow \mathbb{R}$  be any function and  $m \in [0, 1]$ . If for all  $x, y \in [a, b]$  and  $t \in [0, 1]$ , the following inequality holds. Then we say the function  $m$ -convex

$$f(tx + m(1 - t)y) \leq tf(x) + m(1 - t)f(y).$$

Now, we give an example of  $m$ -convex function [6]. The function

$$f(x) = \begin{cases} \frac{1}{2}x & \text{for } 0 \leq x < 1 \\ \frac{3}{2}x - \frac{1}{2} & \text{for } 1 \leq x \leq 2 \end{cases}$$

is  $m$ -convex for every  $m \in (0, 1/2]$ .

**Definition 3.** [2] Assume that,  $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be a continuous function and  $\lambda \in [0, 1]$ . Then if for all  $A, B \in B(H)$  selfadjoint operators, whose spectra in  $I$  and  $m \in [0, 1]$ ,

$$f((1 - \lambda)A + m\lambda B) \leq (1 - \lambda)f(A) + m\lambda f(B)$$

inequality holds, we say the  $f$  function is an operator  $m$ -convex.

**Theorem 1.** [4] Let  $f, g : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be operator  $s_1$  and  $s_2$  convex functions, respectively. Then for every positive  $A, B$  operator in Hilbert space whose spectra in  $I$ , the following inequality holds for any  $x \in H$ , with  $\|x\|=1$ ,

$$\int_0^1 \langle f(tA + (1 - t)B)x, x \rangle \langle g(tA + (1 - t)B)x, x \rangle dt \leq \frac{1}{s_1 + s_2 + 1} M(A, B)(x) + \beta(s_1 + 1, s_2 + 1) N(A, B)(x)$$

where

$$\beta(x, y) = \int_0^1 t^{x-1} (1 - t)^{y-1} dt, x > y \quad (\text{Beta function})$$

and

$$M = M(A, B)(x) = \langle f(A)x, x \rangle \langle g(A)x, x \rangle + \langle f(B)x, x \rangle \langle g(B)x, x \rangle$$

$$N = N(A, B)(x) = \langle f(A)x, x \rangle \langle g(B)x, x \rangle + \langle f(B)x, x \rangle \langle g(A)x, x \rangle.$$

**Theorem 2.** [4] Let  $f, g : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be operator  $s_1$  and  $s_2$  convex functions, respectively. Then for every positive  $A, B$  operator in Hilbert space whose spectra in  $I$ , the following inequality holds for any  $x \in H$ ,  $\|x\|=1$ ,

$$\begin{aligned} & 2^{s_1+s_2-1} \left\langle f\left(\frac{a+b}{2}\right)x, x \right\rangle \left\langle g\left(\frac{a+b}{2}\right)x, x \right\rangle \\ & \leq \int_0^1 \langle f(tA + (1-t)B)x, x \rangle \langle g(tA + (1-t)B)x, x \rangle \\ & \quad + \beta(s_1 + 1, s_2 + 1)M(A, B)(x) + \frac{1}{s_1 + s_2 + 1}N(A, B)(x). \end{aligned} \quad (1.2)$$

where

$$\beta(x, y) = \int_0^1 t^{x-1}(1-t)^{y-1}dt, x > y \quad (\text{Beta function})$$

and

$$M = M(A, B)(x) = \langle f(A)x, x \rangle \langle g(A)x, x \rangle + \langle f(B)x, x \rangle \langle g(B)x, x \rangle$$

$$N = N(A, B)(x) = \langle f(A)x, x \rangle \langle g(B)x, x \rangle + \langle f(B)x, x \rangle \langle g(A)x, x \rangle$$

**Theorem 3.** [4] Let  $A, B \in K \subseteq B(H)^+$ ,  $B(H)^+$  is set of all positive operators. Then  $AB + BA$  is positive if only if

$$f(A + B) \leq f(A) + f(B)$$

Where  $f$  is nonnegative operator function on  $[0, \infty)$ .

**Theorem 4.** [1] Let  $f$  be an operator convex function on the  $I$ . Under the circumstances, for all selfadjoint  $A, B$  operators, whose spectra in  $I$ , below inequality holds,

$$\begin{aligned} f\left(\frac{A+B}{2}\right) & \leq \frac{1}{2} \left[ f\left(\frac{3A+B}{4}\right) + f\left(\frac{A+3B}{4}\right) \right] \\ & \leq \int_0^1 f((1-t)A + tB)dt \\ & \leq \frac{1}{2} \left[ f\left(\frac{A+B}{2}\right) + \frac{f(A) + f(B)}{2} \right] \\ & \leq \frac{f(A) + f(B)}{2} \end{aligned}$$

## 2. RESULTS

**Lemma 1.** If  $f$  is operator  $m$ -convex on  $[0, \infty)$  and non-decreasing function for operator in  $K$ ,  $\frac{1}{m}\langle Ax, x \rangle \in I$  and  $m \in (0, 1]$  then  $f(A)$  is positive for every  $A \in K$ .

*Proof.* Since  $f$  is operator  $m$ -convex and  $A \in K$ , we can write the following inequality,

$$\begin{aligned} f(A) &= f\left(\frac{tA + m(1-t)A + m\left((1-t)\frac{A}{m} + tA\right)}{m+1}\right) \\ &\leq f\left(tA + m(1-t)A + m\left((1-t)\frac{A}{m} + tA\right)\right) \\ &\leq tf(A) + m(1-t)f(A) + (1-t)f(A) + mtf(A) \end{aligned}$$

So, we have

$$\begin{aligned} f(A) &\leq f(A)(m+1) \\ 0 &\leq f(A) \end{aligned}$$

Consequently,  $f(A)$  is positive. □

**Lemma 2.** Let  $I \subset [0, \infty)$ , and  $f : I \rightarrow \mathbb{R}$  be continuous function. Then for all  $A, B \in K \subset B(H)^+$ ,  $f$  is an operator  $m$ -convex on  $I$  if and only if for every  $x \in H$  with  $\|x\| = 1$ ,

$$\varphi_{x,A,B}(t) = \langle f((1-t)A + mtB)x, x \rangle$$

defined  $\varphi_{x,A,B} : [0, 1] \rightarrow \mathbb{R}$  function is  $m$ -convex.

*Proof.* We assume that  $f$  is operator  $m$ -convex, then we prove the  $\varphi_{x,A,B}(\cdot)$  function is  $m$ -convex. For  $A, B \in K$  whose spectra are in  $I$ ,  $t_1, t_2 \in [0, 1]$  and  $\lambda, \gamma \geq 0$  with  $\lambda + m\gamma = 1$ , we can write the below equalities

$$\begin{aligned} \varphi_{x,A,B}(\lambda t_1 + m\gamma t_2) &= \left\langle f\left([1 - (\lambda t_1 + m\gamma t_2)]A + m[\lambda t_1 + m\gamma t_2]B\right)x, x \right\rangle \\ &= \left\langle f\left(A - \lambda t_1 A - m\gamma t_2 A + m\lambda t_1 B + m^2\gamma t_2 B\right)x, x \right\rangle \\ &= \left\langle f\left(1.A + \lambda[-t_1 A + mt_1 B] + m\gamma[-t_2 A + mt_2 B]\right)x, x \right\rangle. \end{aligned}$$

If we take  $\lambda + m\gamma$  instead of 1, then we obtain the following equalities

$$\begin{aligned} \varphi_{x,A,B}(\lambda t_1 + m\gamma t_2) &= \left\langle f\left((\lambda + m\gamma)A + \lambda[-t_1 A + mt_1 B] + m\gamma[-t_2 A + mt_2 B]\right)x, x \right\rangle \\ &= \left\langle f\left(\lambda A + m\gamma A + \lambda[-t_1 A + mt_1 B] + m\gamma[-t_2 A + mt_2 B]\right)x, x \right\rangle \\ &= \left\langle f\left(\lambda[A - t_1 A + mt_1 B] + m\gamma[A - t_2 A + mt_2 B]\right)x, x \right\rangle \\ &= \left\langle f\left(\lambda[(1-t_1)A + mt_1 B] + m\gamma[(1-t_2)A + mt_2 B]\right)x, x \right\rangle \end{aligned}$$

Due to  $f$  is operator  $m$ -convex

$$\varphi_{x,A,B}(\lambda t_1 + m\gamma t_2) \leq \lambda\varphi_{x,A,B}(t_1) + m\gamma\varphi_{x,A,B}(t_2)$$

inequality holds, so  $\varphi_{x,A,B}(\cdot)$  function is  $m$ -convex. Now we assume vice versa, namely if  $\varphi_{x,A,B}$  is  $m$ -convex then we will show that  $f$  is operator  $m$ -convex. Let for all  $t_1, t_2 \in [0, 1]$ ,  $m \in [0, 1]$  and  $A, B \in K$

$$C := (1 - t_1)A + mt_1B$$

$$D := (1 - t_2)A + mt_2B$$

In this case, we calculate

$$\begin{aligned} \varphi_{x,C,D}(\lambda) &= \langle f((1 - \lambda)C + m\lambda D)x, x \rangle \\ &= \langle f((1 - \lambda)[(1 - t_1)A + mt_1B] + m\lambda[(1 - t_2)A + mt_2B])x, x \rangle \\ &= \langle f(A - t_1A + mt_1B - \lambda A + \lambda t_1A - m\lambda t_1B + m\lambda A - m\lambda t_2A + m^2\lambda t_2B)x, x \rangle \\ &= \langle f(A(1 - t_1) - \lambda A(1 - t_1) + m\lambda A(1 - t_2) + mt_1B + m^2\lambda t_2B - m\lambda t_1B)x, x \rangle \\ &= \langle f(-\lambda((1 - t_1)A + mt_1B) + A(1 - t_1) + mt_1B + m\lambda(A(1 - t_2) + mt_2B))x, x \rangle \\ &= \langle f((1 - \lambda)((1 - t_1)A + mt_1B) + m\lambda((1 - t_2)A + mt_2B))x, x \rangle \\ &\leq (1 - \lambda)\langle f(C)x, x \rangle + m\lambda\langle f(D)x, x \rangle \end{aligned}$$

So proof is completed.  $\square$

**Theorem 5.** Let  $I \subset [0, \infty)$ ,  $f : I \rightarrow \mathbb{R}$  be nondecreasing and operator  $m$ -convex function. For  $A, B \in K \subseteq B(H)^+$ , whose spectra in  $I$ ,  $\frac{1}{m}\langle Ax, x \rangle, \frac{1}{m}\langle Bx, x \rangle \in \mathbb{R}$ ,  $m \in (0, 1]$

$$\begin{aligned} \langle f\left(\frac{A + mB}{2}\right)x, x \rangle &\leq \frac{1}{2} \int_0^1 \left\langle f\left([tA + m(1 - t)B] + m\left[f\left((1 - t)\frac{A}{m} + tB\right)\right]\right)x, x \right\rangle \\ &\leq \frac{1}{2} \left[ \frac{\langle f(A)x, x \rangle + m\langle f(B)x, x \rangle}{2} + m\left(\frac{\langle f(\frac{A}{m})x, x \rangle + \langle f(\frac{B}{m})x, x \rangle}{2}\right) \right] \end{aligned}$$

inequalities hold.

*Proof.* For  $t \in [0, 1]$  and  $x \in H$  with  $\|x\| = 1$ .

$$\langle [tA + m(1 - t)B]x, x \rangle = t\langle Ax, x \rangle + m(1 - t)\langle Bx, x \rangle$$

Afterwards since  $\langle Ax, x \rangle \in Sp(A)$  and  $\langle Bx, x \rangle \in Sp(B)$ , continuity of  $f$ ,

$$\int_0^1 f(tA + (1 - t)B)dt$$

operator valued integral exist. Due to  $f$  is an operator  $m$ -convex, for  $A, B \in K$  and  $t \in [0, 1]$ , we can write the below inequality,

$$f(tA + m(1 - t)B) \leq tf(A) + m(1 - t)f(B)$$

Then,

$$\begin{aligned} \langle f(\frac{A+mB}{2})x, x \rangle &= \langle f(\frac{tA+m(1-t)B+m[(1-t)\frac{A}{m}+tB]}{2})x, x \rangle \\ &\leq \frac{1}{2} \left[ \langle f(tA+m(1-t)B) + mf[(1-t)\frac{A}{m}+tB]x, x \rangle \right. \\ &\quad \left. + m(1-t)\langle f(\frac{A}{m})x, x \rangle + mt\langle f(\frac{B}{m})x, x \rangle \right] \\ &= \frac{1}{2} \left[ \frac{\langle f(A)x, x \rangle}{2} + m\frac{\langle f(B)x, x \rangle}{2} + m\left(\frac{\langle f(\frac{A}{m})x, x \rangle}{2} + \frac{\langle f(\frac{B}{m})x, x \rangle}{2}\right) \right] \end{aligned}$$

So we proved the desire consequent. □

**Remark 1.** *If we take  $m = 1$  in Theorem(5), then we obtain Hermite-Hadamard Type inequality.*

**Theorem 6.** *Let  $f, g : I \subset [0, \infty) \rightarrow \mathbb{R}$  are nondecreasing operator  $m_1$  and  $m_2$ -convex function, respectively,  $m_1, m_2 \in (0, 1]$ . Then for any  $A, B \in K \subset B(H)^+$  operators, whose spectra in  $I$ , and  $x \in H$  with  $\|x\| = 1$ ,*

$$\int_0^1 [\langle f(tA+m_1(1-t)B)x, x \rangle \langle g(tA+m_2(1-t)B)x, x \rangle] dt \leq \left( \frac{K+m_1m_2S}{3} \right) + \left( \frac{m_2L+m_1R}{6} \right)$$

*inequality holds, where*

$$\begin{aligned} K &= K(A)(x) = \langle f(A)x, x \rangle \langle g(A)x, x \rangle \\ L &= L(A, B)(x) = \langle f(A)x, x \rangle \langle g(B)x, x \rangle \\ R &= R(A, B)(x) = \langle f(B)x, x \rangle \langle g(A)x, x \rangle \\ S &= S(B)(x) = \langle f(B)x, x \rangle \langle g(B)x, x \rangle \end{aligned}$$

*Proof.* For  $t \in [0, 1]$  and  $A, B \in K$ ,

$$\langle (tA+m(1-t)B)x, x \rangle = t\langle Ax, x \rangle + m(1-t)\langle Bx, x \rangle$$

then  $t\langle Ax, x \rangle, m(1-t)\langle Bx, x \rangle \in I$  and continuity  $f, g$

$$\int_0^1 f(tA+m_1(1-t)B)dt, \int_0^1 g(tA+m_2(1-t)B)dt, \int_0^1 (fg)(tA+m(1-t)B)dt$$

integrals exist. Since  $f, g$  operator  $m_1$  and  $m_2$  convex functions, respectively, we can write the following inequalities,

$$\begin{aligned} \langle f(tA+m_1(1-t)B)x, x \rangle &\leq t\langle f(A)x, x \rangle + m_1(1-t)\langle f(B)x, x \rangle \\ \langle g(tA+m_2(1-t)B)x, x \rangle &\leq t\langle g(A)x, x \rangle + m_2(1-t)\langle g(B)x, x \rangle. \end{aligned}$$

If we multiply side by side, we have the following inequality

$$\begin{aligned} &\langle f(tA+m_1(1-t)B)x, x \rangle \langle g(tA+m_2(1-t)B)x, x \rangle \\ &\leq t^2\langle f(A)x, x \rangle \langle g(A)x, x \rangle + tm_2(1-t)\langle f(A)x, x \rangle \langle g(B)x, x \rangle \end{aligned}$$

$$+tm_1(1-t)\langle f(B)x, x \rangle \langle g(A)x, x \rangle + m_1m_2(1-t)^2 \langle f(B)x, x \rangle \langle g(B)x, x \rangle.$$

If we integrate the inequality over  $[0, 1]$ , with respect to  $t$ ,

$$\begin{aligned} \int_0^1 \langle f(tA + m_1(1-t)B)x, x \rangle \langle g(tA + m_2(1-t)B)x, x \rangle dt &\leq \left(\frac{K}{3}\right) + \left(\frac{m_2L}{6}\right) \\ &\quad + \left(\frac{m_1R}{6}\right) + \left(\frac{m_1m_2S}{3}\right) \end{aligned}$$

then we obtain the proof of theorem. Here,

$$\begin{aligned} K &= K(A)(x) = \langle f(A)x, x \rangle \langle g(A)x, x \rangle \\ L &= L(A, B)(x) = \langle f(A)x, x \rangle \langle g(B)x, x \rangle \\ R &= R(A, B)(x) = \langle f(B)x, x \rangle \langle g(A)x, x \rangle \\ S &= S(B)(x) = \langle f(B)x, x \rangle \langle g(B)x, x \rangle \end{aligned}$$

□

**Remark 2.** If we take  $m_1, m_2 = 1$  in Theorem(6), then for  $s_1, s_2 = 1$  in (1.2) we obtain the same inequality.

**Theorem 7.**  $f, g : I \subset [0, \infty) \rightarrow \mathbb{R}$  are nondecreasing, operator  $m_1$  and  $m_2$ -convex functions, respectively. If for all  $A, B \in B(H)^+$  operators, which  $Sp(A), Sp(B) \subset I$ .  $\frac{1}{m} \langle Ax, x \rangle, \frac{1}{m} \langle Bx, x \rangle \subset I$  and  $m_1, m_2 \in (0, 1]$  then we obtain the following inequality.

$$\begin{aligned} &\langle f\left(\frac{A+m_1B}{2}\right)x, x \rangle \langle g\left(\frac{A+m_2B}{2}\right)x, x \rangle \\ &\leq \frac{1}{2} \int_0^1 \langle f(tA + m_1(1-t)B)x, x \rangle \langle g(tA + m_2(1-t)B)x, x \rangle dt \\ &\leq \frac{K}{12} + \frac{m_2L}{6} + \frac{m_1R}{6} + \frac{m_1m_2S}{12} \end{aligned}$$

where  $x \in H, \|x\| = 1$ .

*Proof.* Since  $f, g$  are nondecreasing, operator  $m_1$  and  $m_2$ -convex functions, respectively, for  $t \in [0, 1]$ ,  $x \in H$  and  $\|x\| = 1$  we can easily calculate the following inequality:

$$\begin{aligned} &\langle f\left(\frac{tA + m_1(1-t)B + m_1\left(\frac{A}{m_1} + tB\right)}{2}\right)x, x \rangle \\ &\quad \times \langle g\left(\frac{tA + m_2(1-t)B + m_2\left(\frac{A}{m_2} + tB\right)}{2}\right)x, x \rangle \end{aligned}$$

$$\begin{aligned} &\leq \left[ \frac{1}{2} f \left( tA + m_1(1-t)B + m_1 \left( (1-t) \frac{A}{m_1} + tB \right) \right) \right] \left[ \frac{1}{2} g \left( tA + m_2(1-t)B \right. \right. \\ &\qquad \qquad \qquad \left. \left. + m_2 \left( (1-t) \frac{A}{m_2} + tB \right) \right) \right] \\ &= \frac{1}{4} \left[ \langle f(tA + m_1(1-t)B)x, x \rangle \langle g(tA + m_2(1-t)B)x, x \rangle \right] \tag{2.1} \\ &\quad + \frac{1}{4} \left[ \langle f(tA + m_1(1-t)B)x, x \rangle \langle g(m_2 \left( (1-t) \frac{A}{m_2} + tB \right))x, x \rangle \right] \tag{2.2} \\ &\quad + \frac{1}{4} \left[ \langle f(m_1 \left( (1-t) \frac{A}{m_1} + tB \right))x, x \rangle \langle g(m_2 \left( (1-t) \frac{A}{m_2} + tB \right))x, x \rangle \right] \tag{2.3} \\ &\quad + \frac{1}{4} \left[ \langle f(m_1 \left( (1-t) \frac{A}{m_1} + tB \right))x, x \rangle \langle g(tA + m_2(1-t)B)x, x \rangle \right]. \tag{2.4} \end{aligned}$$

If we keep constant (2.1), (2.2) and for (2, 3), (2, 4) we use the operator  $m_1, m_2$ -convex function of  $f, g$  respectively, then we have below inequality

$$\begin{aligned} &\langle f \left( \frac{tA + m_1(1-t)B + m_1 \left( (1-t) \frac{A}{m_1} + tB \right)}{2} \right) x, x \rangle \\ &\quad \times \langle g \left( \frac{tA + m_2(1-t)B + m_2 \left( (1-t) \frac{A}{m_2} + tB \right)}{2} \right) x, x \rangle \\ &\leq \frac{1}{4} \left[ \langle f(tA + m_1(1-t)B)x, x \rangle \langle g(tA + m_2(1-t)B)x, x \rangle \right] \\ &\quad + \frac{1}{4} \left[ \langle f(m_1 \left( (1-t) \frac{A}{m_1} + tB \right))x, x \rangle \langle g(m_2 \left( (1-t) \frac{A}{m_2} + tB \right))x, x \rangle \right] \\ &\quad + \frac{1}{4} \left[ \left( t \langle f(A)x, x \rangle + m_1(1-t) \langle f(B)x, x \rangle \right) \left( (1-t) \langle g(A)x, x \rangle + m_2 t \langle g(B)x, x \rangle \right) \right] \\ &\quad + \frac{1}{4} \left[ \left( (1-t) \langle f(A)x, x \rangle + m_1 t \langle f(B)x, x \rangle \right) \left( t \langle g(A)x, x \rangle + m_2(1-t) \langle g(B)x, x \rangle \right) \right]. \end{aligned}$$

Finally, if we integrate above inequality over  $[0, 1]$  with respect to  $t$  and

$$\int_0^1 f \left( tA + m_1(1-t)B \right) dt = \int_0^1 f \left( (1-t)A + m_1 tB \right) dt$$

we use the equality, then we complete the proof of the theorem. □

**Remark 3.** *If we choose  $m_1, m_2 = 1$  in Theorem(7), then for  $s_1, s_2 = 1$  in (1.3) we obtain the same inequalities.*



## REFERENCES

- [1] Dragomir, S. S., The Hermite-Hadamard type inequalities for operator convex functions. *Appl. Math. Comput* 218(3), (2011), 766-772.
- [2] Erdaş, Y., Unluyol, E., and Salaş, S., The Hermite-Hadamard Type Inequalities for Operator  $m$ -Convex Functions in Hilbert Space, *J. New Theory* 5, (2015), 80-91.
- [3] Furuta, T., Micic, J., Pecaric, J., and Seo, Y., Mond Pecaric Method in Operator Inequalities for Bounded Selfadjoint Operators on a Hilbert Space. Element, Zagreb, 2005.
- [4] Ghazanfari, A., The Hermite-Hadamard type inequalities for operator  $s$ -convex functions. *J. Adv. Res. Pure Math.*, 6(3), (2014), 52-61.
- [5] Moslehian, M. S., and Najafi, H., Around operator monotone functions. *Integr. Equ. Oper Theory*, 71, (2011), 575-582.
- [6] Pavić, Z., Ardiç, M. A., The most important inequalities of  $m$ -convex functions. *Turk J Math.*, 41, (2017), 625-635.
- [7] Toader, G. H., Some generalisations of the convexity. *Proc. Colloq. Approx. Optim.*, (1985), 329-338.

*Current address:* Erdal UNLUYOL: Department of Mathematics, Faculty of Arts and Sciences, Ordu University, Ordu, Turkey.

*E-mail address:* [erdalunluyol@odu.edu.tr](mailto:erdalunluyol@odu.edu.tr)

ORCID Address: <http://orcid.org/0000-0003-3465-6473>

*Current address:* Yeter ERDAŞ: Department of Mathematics, Sciences Institute, Ordu University, Ordu, Turkey.

*E-mail address:* [yetererdas@odu.edu.tr](mailto:yetererdas@odu.edu.tr)

ORCID Address: <http://orcid.org/0000-0002-9227-779X>

*Current address:* Seren SALAŞ: Department of Mathematics, Sciences Institute, Ordu University, Ordu, Turkey.

*E-mail address:* [serensalas@odu.edu.tr](mailto:serensalas@odu.edu.tr)

ORCID Address: <http://orcid.org/0000-0003-4109-5635>